SCHOOL BASED ASSESSMENT 2023
GRADE 8
SCIENCE PART - A (Objective Type)
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1) Use mask & keep proper distance from each other.
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2) Read carefully and attempt all questions.
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3) Encircle the correct option of each of the Multiple Choice Questions (MCQs) as shown in the example given below.
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Example: Covid-19 is caused by:
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a) bacteria LS b) fungi  (Slad
@virus e d)algae 2l

4) If more than one options are encircled in a question, no mark will be given.
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Total Marks: 48 I Part-A (Multiple Choice Questions) I Total Time: 1 Hour

Instructions: Thirty two (32) Multiple Choice Questions (MCQs) are given in this paper. Each question carries 1.5 marks.
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Question No.1 : Which part of the brain controls hunger?
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(a) Cerebrum AN (b) Hypothalamus  (yueSlagS 501

(c) Cerebellum ALy (5 e (d) Pons B

Question No.2 : The pupil of eye contracts in darkness and dilates in light.Which
system controls this action?
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Question No.3 : The organ shown in the image belongs to which organ Question No.4 : Basic unit of heredity is:
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(b) Digestive $haaadl3 X4
(c) Excretory R W

(d) Respiratory Syl



Question No.5 : Identify the name of the given image.
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a) Gene BTN

b) Chromosome  a g 50 5 S
c) DNA PRSI RrS
d) Nucleus oalS gnt

Question No.7 : Which vitamin is produced in more amount in bacterial
culture?

(

¢ = Uig I (e ) 00y (el L (58S e S Sy 17 el Jl g
a) B11 (b) B12 (c)B13 (d) B14

Question No.9 : Which of the following is NOT a part of 3R strategy?
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a) Recycle Ul Jlaaicd) J3@  (b) Repair U S G e
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¢) Reuse L (d) Reduce U S Jlanial S

Question No.11 : Which of the following is NOT a source of air pollution?
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a) Industry

c) Tree G

(d) Human being

Question No.13 : "During a chemical reaction, the total mass of products is
equal to the total mass of the reactants'. This law is called:
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a) law of conservation of mass sala &y ( 5il8
b) law of mass action sala Jalai ) 538
c) law of conservation of energy (. y| & ) 518
d) law of definite proportion il Jatua () i@

Question No.15 : Identify the image showing a chemical reaction.
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Question No.17 : Which one is an example of a neutralization reaction?
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a)H,SO; + 2NaOH — Na, S04 + 2H,0

byH,SO4 + Zn — ZnSO,4 + H,

)Na,CO; + 2H,0 — 2NaOH + H,CO;

d)H,S0, + 2NaCl — Na, SO, + 2HCI

Question No.6 : Which is correct sequence from larger unit to smaller unit in
acell?
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Question No.8 : Which of the following biotechnological product will be
effective against COVID-19?
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(a) Interferon BEBY:Bxil (b) Insulin Ol gt
(c) Vaccine sy g (d) Beta-endorphin Oﬂé})ﬁl\&:\g

Question No.10 : Suppose you are going outside and switch off all the
appliances in your room. Which of the following technique of resource
conservation you have used?
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(a) Reduce U S Jlazin »S  (b) Reuse
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c) Recycle ) ) d) Regenerate U S lan s jb g
(c) Recy iy Jlarid (d) Reg S e )b

Question No.12 : Which of the following factor affects the melting of ice in
the habitat of polar bears?
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(a) Acid rain B | Iy ¥ (b) Deforestation 3&5\5 g;.)&_x;
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(c) Global warming &, § Ja s depletion SES K gl

Question No.14 : Which of the following is an example of a balanced chemical
equation?
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(a)
6 CO; + 2H,0 — CeH 206+ 60,
(c)
6CO;,+ 6H,O0 — CsH 206+ 60,

(b)
6CO;, + 4H,O — CgH 206+ 602

(d)
6CO;,+ 8H,0O — CsH 206+ 60,

Question No.16 : The characteristic of acid:
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(a) produces hydroxide ions in its Sl JS-‘-'L“‘S‘ }Jﬁ.--‘3 L e Oishs @J

aqueous solution. - = BS lay
(b) is found in solid, crystal, and JS S JJSEI:,‘ D) b o S ‘u»xj ~
powdered forms. = Ul Lh e

(c) has soapy touch in its solution. . — UgS ) J slaa Vs Glae
(d) tastes sour and is very corrosive. . — U S Jan (s gl o Ugs (5 5

Question No.18 : The unit of pressure is:
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(a)
Nm 2

(c)
(b) Nm 1
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Nm™ (d) Nm



Question No.19 : The supporting walls of the dam are kept:
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(a) broad at the e Al
bottom s
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(b) broad at the top é 2% )
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(d) broad at the y
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Question No.21 : The instrument shown in the figure is used to measure:
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(a) mass sl —— s
(b) time i E—*°
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(c) volume asll g E i
(d) length il E— o
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Question No.23 : The possible cause of the shown accident is:
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(a) thermal R ) e
expansion e Sl = Bp
(b) thermal L )

contraction 31 3% Sl

(c) earthquack A3

(d) flood O s

Question No.25 : As shown in the ray diagram, what is the nature of the
image formed?

(S Tl 038 Sl ¢ L8 LilgSa (e ol B3 £ ) AS L 125 i J g

fm s e
(a) Real PR TLEN Object -
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(c) Inverted i oF g F B
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(d) large 5!

Question No.27 : If you cannot see in a dim light room which eye cells are not
working properly?
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(@) Cone (HS (b) Iris ol (c)Nerve 5 (d) Rod 3\)

Question No.29 : Which power plant produces loud noise?
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Question No.20 : Physical quantities include which of the following?
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(a) Magnitude lada (b) Unit Sl g
(c) Magnitudeand | ; (d) Size and . B
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Question No.22 : Which technique is NOT used by the scientists to avoid the
harmful effects of thermal expansion?
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(a) Expansion gaps in concrete roads A s 65 (e S G (S Sy SIS
(b) Expansion gaps in railway tracks SA oz 58 (e (S Fe sh )
(c) Expansion gaps in bridges J& 2w 53 (e sh
(d) Expansion gaps in brick soling roads. A _auw 63 (e KAl gu =S usil

Question No.24 : When the bulb of the thermometer is touched by some hot
object what happens to the liquid inside the narrow tube?
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(a) Expands - = bl (b) Contracts - = G
. . (d) Remains . .
(c) Condence g U 51 daaia unchanged g U5 oM FEXN

Question No.26 : Which part of the eye acts like camera film?
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(a) N o (d)
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(c) Iris
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Question No.28 : Which of the following is a small portable generator?
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(a) Power plant N N . L

3 3L 4L (b) Bicycle dynamo 1|3 e
generator i Qs )b (b) Bicycle dy sl Sl
(c) Nuclear power ulS g (d) Hydro power )}l-g 5)33\-)
generator )ﬁﬂ);,;)}l_ﬁ, generator jjw_\;

Question No.30: If you have a copper wire coil and LED connected in a circuit
then what will happen if the magnet is moved in and out of the coil?
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Question No.31 : Which one of the following device is used for getting relief
in muscular pain?
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(a) GPS ol > (b) Insulin g
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Question No.32 : Which of the following group of gases are used in space for
breathing?
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(a) Carbon dioxide and Oxygen (jausl ol BLST 315 o <
(b) Nitrogen and Oxygen (awsST ¢l (a5 55
(c) Oxygen and Hydrogen Q;Jﬁib‘ b eS|

(d) Carbon monoxide and Nitrogen ¢y 5 55U ) s/ SLST 3 0o (1<





